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1. אינטגרלים בשיטת ההצבה י 1
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 שיטת ההצבהים באינטגרל

 שאלות 

 : הבאיםאת האינטגרלים  וחשב
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 תשובות סופיות 

1) 
2

1

1
c

x
− +

+
 

2) 
( )

( )
5

3
3

3
42 4

4
3 5 3

x
x c

 
+ 

− + + 
 
 

 

3) 

3
2

21
2 1

3

x
x c

 
+

 − + +
 
 

 

4) ( )arctan xe c+ 

5) 
( )

3

1

3 ln
c

x
− + 

6) ( )arcsin ln x c+ 

7) ( )
2 221

2

x xx e e c− + 

8) ( )3 2
3 33 2 2xe x x c− + + 

9) 

2
1 1 1

ln
2 2 4

x x c
   

+ + + − +   
   

 

1

פרק 17אינטגרלים בשיטת ההצבה

1

1


